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03 AIZ=20ibl 1,872 1,601 271
O Z22AM A2 R0 260,000,000& = 0.72/100 1,872
AIFAl EHIAHY 91,040 0 91,040




SN MOIS 222D
HE: YRE CABATY

SRl AIJXI Ol SHAL Chel M)
SA - EB S (31H) - KR A Akl e =
201 LetEgy] 6,840 6,840
01 At22t2ldl 5,240 5,240
[ YEt==2H| 3,700
O stk o= X B HI = 200,000& * 5044 1,000
O OrMagt HEXIT H& 20,000& * 604 1,200
O 2323 EXHE M 50,000& * 304 1,500
O =&l 1,540
O AJHXIEEl gRFA 7,0008 * 2% » 110 1,540
02 ==29gl 1,600 1,600
O A8 & Hl= X d| 1,600
O AIJHAI #Hl g3 200,000& ~ 8& 1,600
202 O4dl 5,000 5,000
01 =Wobl 5,000 5,000
O AKX EHI E R =& 50,000& * 2% » 30 3,000
[0 S22 FRFE 20,0003 * 2% » 50 2,000
206 M=l 1,000 1,000
01 =4l 1,000 1,000
O AIDERL &l XA 2 * 1,000
401 AlEHIL204bI 75,000 75,000
01 A&l 75,000 75,000
O AIJHAl D23ty 15,000,000& * 14 15,000
O 32340 & KXzl 10,000,000& * 14! 10,000
[0 TAIDISAIEE B 2 B 50,000,000& * 14 50,000




SN MOIS 222D
HE: YRE CABATY

2t AIJHXIOI2FAHY CEREE
SH-EH . O(E) - MBAY - B 0fl AF 08 S HRS2

405 KH&HFESHI 3,200 0 3,200
01 XA SEFSHI 3,200 0 3,200

O ol 2 350,000& = 2CH 700

[ 2D 2 500,000& = 1CH 500

O ANE2 23482 DAMAEIF 2,000,000 = 1CH 2,000
HHIAAH(MOIS2e22 1) 100,444 195,269 N94 825
ol 2A 72,792 124,212 A51,420
oled=2dd|(MOIS2st2t2 1) 72,792 124,212 N51,420
101 ol 244] 67,392 115,172 N47,780
02 =% 67,392 115,172 A47,780

O xU2RE 67,392

O A2t2224E 7,800 * 18" x 40AI2F + 12& 67,392
203 LRFZAH| 4,200 6,640 N2,440
04 RASYYRETY| 4,200 6,000 1,800

O Mol =322 1t 350,000& = 12& 4,200
204 AR AH| 1,200 2,400 A 1,200
01 NMZHRHHH| 1,200 2,400 A 1,200

O MOIS=32Z2 0 E 100,000& * 122 1,200
JlE23&Hh| 27,652 71,057 A43,405
Jl2Zdl(MOIS2s221H) 27,652 71,057 A43,405
201 LBr2AH| 27,652 55,957 N 28,305
01 AtR22iH] 26,052 45,140 19,088




m

40
b
{0

SN EH O (S]H) - M A Atol e =32t

O dBt=2t| 26,052
O =ASX 7 20,000& = 200+ A 4,000
O MEES #L 10,000& * 205 * 63 1,200
ORIEZ2FS 12,000& ~ 88 * 12& 1,152
O HEARI|D| A28 2 10,400
SA| EYH 100,000 * 2CH * 53] 1,000

2t ey EY 350,000& * 35 * 43| 4,200
TelHI| ElY 250,000& = 5CH * 43| 5,000
mAlY2 EY 100,000& * 23] 200

O dEEH KANEL 5,900
ZTEH 200,000& = 70H = 13 1,400

I 2lE D] 250,000& = 504 * 23] 2,500

S A 250,000& = 204 * 43 2,000

O WATA P2 100,000 * 3= * 33| 900
O gt Hellls ¢l 50,000& * 5& x 43| 1,000
O At&IQISH 1,000& = 1,5000H 1,500

02 =224l 1,600 10,817 A9,217

0 222= % MA 1,600
O dBtE3I2 50,000& = 12& 600
O ASYRFN REF 5003 * 405 * 503 1,000






